Dyno Push Side Seat Assembly
Concept2 6/19/07

\ 1-Push Side Seat Back #5403

e 1Push Side Seat Back Bracket #5106

4-3/8x2.63 Hex Screw #5227
1-Push Side Seat #5401

2- 3/8x3/4 Slotted Screw #5208

1-End Cap #5020

Connects to Flwheel Bracket
Assembly Here

Connects to Monorail

/ ~ ! .
4- 3/8 Nylock Nut #5203 \ Assembly Here
j 1-Push Side Seat Bracket Right #5104

1-Push Side Seat Bracket Left #5105

1-Push Side Leg #5123
1-Push Side Foot #5130
2- Caster Wheel #1308
2-FootCap #119

2- Caster Stop #1309
2-1/4"Nylock Nut #1235



